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T = Ofl k2t =32

aw | = g | &)
24 M & AHS o 0f| kol L < 0f| kol
459 || X & M B 3ahTH YEAMH|A Fe 201 YEr2FGH| 201 Ygr2 G|
01 ARR2H2[H| 01 AFREH2[H|
1) YT UHH|(EEV]) RtE 1) 57| Atz
2) ZdetEgr| dxtE 165,000 94*458 Y 75570 | 2) Zatser(1271g) 165,00094*36CH* 12 71,280
2) SHiESY| AXtE 79,200*60¥ 4752 | 2) ZetEsy| o) 165,000 *1CH*9 & 1,485
2) Zetse (771 E) 165,000 2*1C*7 & 1,155
2) Zet=Ea 7|67 ) 165,000 *1C*6 & 990
2) Zetee 7|4/ E) 165,000 *1C*4& 660
2) SHEBT|(1270 ) 79,2004*50*122l 4,752
509 |XF ¥ & ¥ SAMEF HYIE e 201 Y2 HH| 201 Ygr2gH|
01 AR 2+2|H 01 AFR2t2|H|
1) SHER I7|IE T S| 5800 | 1) SMER H7IE TN 2 SEH| 5,800
520 [XF @ &= B B EAAM FH {X[EE 201 YHH2HH| 594,636 [201 Y42 HH| 594,636
02 3Z2GH| 02 3Z2GH|
1) HAXZ |fX| 22| 594,636 | 1) HAXt2F QX|HE|H|
) &I X| =X 2132014 ) R X| =S X (13E0| 4
Q™ AKZH(SEO| 4 NFFHER 1,907 &*24L*1C*26 2L *12°Y 14,280
)M AXEH2.5E0[ 4 3)FR(ECNG) 1,490 94*30L*3C*26 L * 12 41,840
)LYIE(1E0|) A 2| LR X H| 6,000,000 *4CH 24,000
2)AtZek} ™Y AKHGEO| Y
2)UE 7| AKX A AL Z ) FRIER) 1,907 *27L*6CH*26 2L *12Y 96,388
3)FFH(CNG) 1,490 94*26L*8C*26 L * 12 96,696

X|H] 7,600,000 4*14CH 106,400

IRFUHESD) 1,907 &4*9L*7C*26 2*12E 37,484
3R SRR H| 3,000,000 *7CH 21,000

RUER) 1,907 4*5L*9C*26 U *12°Y 26,775

3) At 2| LR XH| 1,000,000 *9CH 9,000
2)at=At

NREUHER) 1,907 2*7L+20*26 2 *9 ¢ 6,248

3)3 RO(CNG) 1,490 %23 *5C*26U*9 Y 40,096

3) At 2| LR XH| 7,400,000 *7CH 51,800

QUAZIARIAXRLZE)

IRFUHER) 1,907 &1*10L*20*26 2*12°& 11,900
R SRR H| 5,000,000 *2C{ 10,000

3R HRXH| 729,000 %14 729
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rir

HY = E 201 LHH2HH|
201 LB HH|

01 AFRZHE[H]
01 AFRZH2|H

NUEXE, 2[EH, SEH| =z
5400 | N2lE 0Oy 1,500:2*1,00071 1,500
Al 2,700 | ,
Al 750
T 2,700

T 750
1)0{ 20| W+ FojH| 220,000/ *57} 1,100
Al 550
T 550
DA EYA IS Q= 1,300:2*1,0007H 1,300
Al 650
T 650
NAIEZSEE F0OiH| 1,000,0008 1,000
Al 500
T 500
NALR-ES 0| 500,000 500
Al 250
T 250




